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OO000000000000 O M:Yoursonseemsto have
made much progress in playing the piano. Does he attend any piano
classes? W: Yes,he takes lessons twice a week,but from next week
on,he will go to the class on Saturday evenings, too. Q: How often
will the woman’ s son have piano lessons from next week on? A.
Once a week. B. Twice a week. C. Three times a week. D. Four times
aweek. J OO0 0O0OO0O0OO0O0OOCO O W: Professor
Clark said that the mid-term exam would cover the first 15 lessons.
M: Really?l thought it only included the first 12 lessons. Then | must
spend the weekend to go over the rest of the lessons. Q: How many
lessons must the man review over the weekend? A. Five lessons. B.
Three lessons. C. Twelve lessons D. Fifteen lessons. [ 0 O U O O
Doo0dooooooooooooocobooodood
[0 W:Here’ sa10-dollar bill. Give me two tickets for tonight’ s
show please. M: Sure. Two tickets and here is $1,40 change. Q: How
much does one ticket cost? A. $1.40. B. $4.30. C. $6.40. D. $8.60 10
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Do000o00doooodoodd O w:l mthinking of going
to Austin for a visit.Do you think it s worth seeing? M: Well, | wish
| had been there. Q: What do we learn from the conversation? A.
The man is planning a trip to Austin. B. The man has not been to
Austin before. C. The man doesn’ t like Austin. D. The man has
been to Austin before. I wish | had been there.0 O O 0O O 0O O O
OO0 O W:lfithadn® tbeen snowing so hard,l might have been
homeby 90’ clock. M:It" stoo bad you didn’ t make it.Jane was
here and she wanted to see you. Q: What happened to the woman?
A. She got home before 9 0’ clock. B. She had a bad cold. C. She
had a car accident. D. She was delayed. If it hadn’ t been snowing so
hard, | might have been home by 90’ clock.00 OO OO OO O O
OO00o00O900dndndndnshewasdelayedd (2)0 O O
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DO000o00dodd O W:The movie starts in 5 minutes and
there’ sbound to be along time. M:Why don’ twe come back for
the next show?l” m sure it would be less crowded. Q: What is the
man suggesting? A. Coming back for a later show. B. Waiting in a
queue. C. Coming back in five minutes. D. Not going to the movie
today. Whydon’ t0?0 0000000000 0OOOOONO
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